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ER=10

ca=0.1

rf=1.05

sigma=0.25

1=120

Po=100

dd=0.3
Valuation=function(ER,ca,rf,I,Po,sigma){
Delta=ca/(1+ca)

risk P=(rf-exp(-sigma))/(exp(sigma)-exp(-sigma))
Px=0P=0PO=matrix(rep(NA,1142),ncol=11)
for( in seq(to=11,from=1){

for(j in seq(from=1,to=i)){
Px[j,i]=Po*exp((-2*j+1)*sigma)*((1-Delta)~(-1))
Px=round(Px,1)

Px

OP=Px

OPO=Px

for(i in seq(to=11,from=1)){

for(j in seq(from=1,to=i)){
OPlj,il=max(Pxlj,il-1,0)
OPOlj,il=max(Px[j,i]-1,0)

H

H

for(i in seq(to=0,from=10)){

for(j in seq(from=0,to=i)){



OP[j,il=max((OPI[j,i+1]*riskP+OP[j+1,i+1]*(1-riskP))/rf, Px[j,il-1)
OPOIj,il=(0P[j,i+1]*riskP+OP[j+1,i+1]*(1-risk P))/rf

H
H
H
H

OP=round(OP,1)

OPO=round(OPO,1)

OP

OPO
rslet=list(value=Px-I,option=0P,option2=0PO)
}

Valuation(ER,ca,rf,I,Po,sigma)



- PSR LT SBATHNSE T ORHE

ER=10

ca=0.1

rf=1.05

sigma=0.25

1=120

dd=0.3

Vinc=100

Valuation=function(Vinc,sigma,ca,I,dd){
riskP=(rf-exp(-sigma))/(exp(sigma)-exp(-sigma))
Vx=0P=0PO=matrix(nrow=1024,ncol=11)

for( in seq(to=10,from=1)){

for(j in seq(from=1,to=2"G- D))

Vx[1,1]=Vinc
Vx[2%),i+1]=Vx[j,i]*exp(-sigma)*(1-(I*ca+(1-((1/(1+ca)) *exp(-dd))) *(Vx[j,il *exp(-sigma)-(1+ca)
*1)/(Vx[j,il*exp(-sigma)))
Vx[2%j-1,i+1]=Vx[j,i]*exp(sigma) *(1-T*ca+(1-((1/(1+ca)) *exp(-dd))) *(Vx[j,i] *exp(sigma)-(1+ca
)*1D)/(Vx[j,il*exp(sigma)))

¥

¥

Vx=round(Vx,1)

Vx

OP=Vx

OPO=Vx

for(i in seq(to=11,from=1)){

for(j in seq(from=1,to=2"G-1)){

OPlj,il=max(Vx[j,il-1,0)

OPOlj,il=max(Vxl[j,il-1,0)

}

}

for(i in seq(to=0,from=10)){

for(j in seq(from=0,t0=2"G-1)){
OP[j,il=max((OP[2%j-1,i+1]*risk P+OP[2%],i+1]*(1-risk P))/rf, Vx[j,il-T)
OPO[ i]=(OP[2*j-1,i+1]*riskP+OP[2%] i+1]*(1-riskP))/rf
}



H

OP=round(OP,1)

OPO=round(OPO,1)

OoP

OPO
rslet=list(value=Vx-I,option=0P,option2=0PO)
H

Valuation(Vinc,sigma,ca,l,dd)



